Philosophy 211 -- Assignment #8
I. Prove these sequents.

1. (x(Px & Qx), (x(Sx ( ~Qx) ├ (x(Px & ~Sx)

2. (x(yRxy ├  (xRxx
3. (xRxx  ├  (x(yRxy
4. (x(Dx & (y(Cy ( Hxy))├  (x(Cx ( (y(Dy & Hyx))
5. (x(y(Rxy ( Px)  ├  (x((yRxy ( Px)
6. (x(Px v Qx)  ├  (xPx v (xQx

7. (x(y(Rxy v Ryx), (x(y(Rxy ( Ryx)  ├  (x(yRxy

8. (x(y(Rxy & Sxy), (x(y(Rxy ( Syx) ├  (x(y(Rxy & Syx)
9. (x(y(z((Rxy & Ryz) ( Rxz) , (x(y(Rxy & Ryx)  ├  (xRxx
10. (x(yRxy, (x(y(Rxy(Ryx)  ├  (x(y(Rxy & Ryx)
II. Determine which of these sentences are true on these diagrams.
1. (x(Sx &  (y(Ty (  Pxy))
2. (x(Sx ( (y(Ty & Pxy))
3. (x(Tx & (y(Sy ( ~Pyx))

4. (x(Tx ( (y(z(Sy & Sz & Pyx & ~Pzx))

5. (x(y((Sx & Sy & x ≠ y) ( (z(Tz & Pxz & Pyz))
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